
ERFORDERLICHES 
ZUBEHÖR

 2 x Element A

 2 x Element B

 16 x M6-Gewindeeinsatz mit Innensechskant

 16 x M6 x 20 mm Senkkopfsicherheitsschrauben

 1 x Akku-Bohrmaschine / Bohrschrauber

 1 x H6-Innensechskant-Bit (Schraubendrehereinsatz)

 1 x Magnetischer Bit-Halter (Sechskant)

 1 x Magnetische Bit-Verlängerung (mind. 30 cm)

 1 x TX30-Schraubendreher-Bit (Torx)

 1 x TX45-Schraubendreher-Bit (Torx)

 1 x 3 mm Dübelbohrer

 1 x 7,5 mm Dübelbohrer

 Filzstift und Lineal

+49 2739 8983910T

E kontakt@pineapplecontracts.com

RYNO® MODULAR 	          
	 MONTAGE DER VERBINDUNGSELEMENTE TEIL 1

ELEMENT A ELEMENT B



MONTAGE DER VERBINDUNGSELEMENTE

2B

01
Drehen Sie beide Ryno Sitzmodule um 180°, 
sodass die Unterseiten nach oben zeigen 
(siehe Schritt 02).

02

2A

Platzieren Sie die Ryno Sitzmodule auf einer ebenen 
Werkbank, sodass beide Module waagerecht liegen. 
Schieben Sie die Module bündig zusammen, sodass 
Vorder- und Rückseite auf einer Linie liegen.

Hinweis: Legen Sie ein Staubtuch oder eine 
Schutzdecke auf die Werkbank, um die Ryno Module 
vor Beschädigungen zu schützen.

Richten Sie die Kanten von Element B an der Vorder- 
und Seitenkante der Aussparung des linken Ryno 
Sitzmoduls aus. Markieren Sie mit einem Filzstift die 
Vorderkante von Element B sowie die Mittelpunkte 
der Langlöcher.

Entfernen Sie anschließend Element B und bohren 
Sie an den 4 markierten Punkten mit einem 3 mm 
Bohrer und einer Bohrmaschine die Führungslöcher 
(Vorbohrungen). 

+49 2739 8983910T

E kontakt@pineapplecontracts.com

TEIL 1

Richten Sie die linke Kante von Element B an der 
Seitenkante der Aussparung des linken Ryno Sitzmoduls 
aus. Achten Sie darauf, dass die Vorderkante gerade 
ausgerichtet ist, und positionieren Sie Element B im 
Abstand von 50 mm zur Rückseite des Fußes. Markieren 
Sie mit einem Filzstift die hintere Kante von Element B 
sowie die Mittelpunkte der Langlöcher.

Entfernen Sie anschließend Element B und bohren Sie 
an den 4 markierten Punkten mit einem 3 mm Bohrer und 
einer Bohrmaschine die Führungslöcher (Vorbohrungen). 

 

 

BENCH

FRONT FRONT

ALIGN THE LEFT EDGE OF THE BRACKET B WITH THE SIDE EDGE OF THE RECESS ON THE LEFT RYNO MODULAR 
SECTION. ENSURING THAT THE FRONT IS STRAIGHT, POSITION BRACKET B 50MM FROM THE BACK OF THE 
FOOT. USING A FELT-TIP PEN, MARK THE POSITION OF THE BRACKET'S REAR EDGE AND THE CENTRES OF THE 
SLOTS. 

REMOVE THE BRACKET. USING A POWER DRILL WITH A 3MM DRILL BIT, DRILL THE PILOT HOLES IN THE FOUR 
MARKED POINTS.  

 5
0 

1

2A: JOINING STRAIGHT SECTIONS ONLY 2B: JOINING SECTIONS WITH CURVES

ROTATE BOTH RYNO MODULAR UNITS 180 DEGREES, SO THAT BOTH PIECES
ARE NOW FACING BOTTOM-SIDE  UP.

REST THE RYNO MODULAR UNITS ON A FLAT BENCH TO KEEP BOTH PIECES LEVEL. PUSH BOTH UNITS TOGETHER, 
ENSURING THAT THE FRONT AND BACK ARE INLINE.

NOTE: PLACE A DUST SHEET ON TOP OF THE BENCH TO ENSURE THAT THE RYNO MODULAR SECTIONS DO NOT 
GET SCUFFED OR DAMAGED.

ALIGN THE EDGES OF THE BRACKET B WITH THE FRONT AND SIDE EDGE OF THE RECESS ON THE 
LEFT RYNO MODULAR SECTION. USING A FELT-TIP PEN, MARK THE POSITION OF THE BRACKET'S 
FRONT EDGE AND THE CENTRES OF THE SLOTS. 

REMOVE THE BRACKET. USING A POWER DRILL WITH A 3MM DRILL BIT, DRILL THE PILOT HOLES 
IN THE FOUR MARKED POINTS.  

 

 

BENCH

FRONT FRONT

ALIGN THE LEFT EDGE OF THE BRACKET B WITH THE SIDE EDGE OF THE RECESS ON THE LEFT RYNO MODULAR 
SECTION. ENSURING THAT THE FRONT IS STRAIGHT, POSITION BRACKET B 50MM FROM THE BACK OF THE 
FOOT. USING A FELT-TIP PEN, MARK THE POSITION OF THE BRACKET'S REAR EDGE AND THE CENTRES OF THE 
SLOTS. 

REMOVE THE BRACKET. USING A POWER DRILL WITH A 3MM DRILL BIT, DRILL THE PILOT HOLES IN THE FOUR 
MARKED POINTS.  

 5
0 

1

2A: JOINING STRAIGHT SECTIONS ONLY 2B: JOINING SECTIONS WITH CURVES

ROTATE BOTH RYNO MODULAR UNITS 180 DEGREES, SO THAT BOTH PIECES
ARE NOW FACING BOTTOM-SIDE  UP.

REST THE RYNO MODULAR UNITS ON A FLAT BENCH TO KEEP BOTH PIECES LEVEL. PUSH BOTH UNITS TOGETHER, 
ENSURING THAT THE FRONT AND BACK ARE INLINE.

NOTE: PLACE A DUST SHEET ON TOP OF THE BENCH TO ENSURE THAT THE RYNO MODULAR SECTIONS DO NOT 
GET SCUFFED OR DAMAGED.

ALIGN THE EDGES OF THE BRACKET B WITH THE FRONT AND SIDE EDGE OF THE RECESS ON THE 
LEFT RYNO MODULAR SECTION. USING A FELT-TIP PEN, MARK THE POSITION OF THE BRACKET'S 
FRONT EDGE AND THE CENTRES OF THE SLOTS. 

REMOVE THE BRACKET. USING A POWER DRILL WITH A 3MM DRILL BIT, DRILL THE PILOT HOLES 
IN THE FOUR MARKED POINTS.  

 

 

BENCH

FRONT FRONT

ALIGN THE LEFT EDGE OF THE BRACKET B WITH THE SIDE EDGE OF THE RECESS ON THE LEFT RYNO MODULAR 
SECTION. ENSURING THAT THE FRONT IS STRAIGHT, POSITION BRACKET B 50MM FROM THE BACK OF THE 
FOOT. USING A FELT-TIP PEN, MARK THE POSITION OF THE BRACKET'S REAR EDGE AND THE CENTRES OF THE 
SLOTS. 

REMOVE THE BRACKET. USING A POWER DRILL WITH A 3MM DRILL BIT, DRILL THE PILOT HOLES IN THE FOUR 
MARKED POINTS.  

 5
0 

1

2A: JOINING STRAIGHT SECTIONS ONLY 2B: JOINING SECTIONS WITH CURVES

ROTATE BOTH RYNO MODULAR UNITS 180 DEGREES, SO THAT BOTH PIECES
ARE NOW FACING BOTTOM-SIDE  UP.

REST THE RYNO MODULAR UNITS ON A FLAT BENCH TO KEEP BOTH PIECES LEVEL. PUSH BOTH UNITS TOGETHER, 
ENSURING THAT THE FRONT AND BACK ARE INLINE.

NOTE: PLACE A DUST SHEET ON TOP OF THE BENCH TO ENSURE THAT THE RYNO MODULAR SECTIONS DO NOT 
GET SCUFFED OR DAMAGED.

ALIGN THE EDGES OF THE BRACKET B WITH THE FRONT AND SIDE EDGE OF THE RECESS ON THE 
LEFT RYNO MODULAR SECTION. USING A FELT-TIP PEN, MARK THE POSITION OF THE BRACKET'S 
FRONT EDGE AND THE CENTRES OF THE SLOTS. 

REMOVE THE BRACKET. USING A POWER DRILL WITH A 3MM DRILL BIT, DRILL THE PILOT HOLES 
IN THE FOUR MARKED POINTS.  

FRONT



MONTAGE DER VERBINDUNGSELEMENTE

4A

Achten Sie darauf, dass die beiden Ryno 
Sitzmodule exakt ausgerichtet sind. 
Verwenden Sie ein Lineal, um auf dem 
rechten Ryno Modul eine gerade Linie zu 
ziehen – so, dass die Markierungen auf beiden 
aneinanderstoßenden Modulen fluchten. 

Richten Sie Element A auf dem rechten 
Ryno Sitzmodul so aus, dass die Kanten 
mit der Vorder- und Seitenkante der 
Aussparung sowie der zuvor markierten 
Linie übereinstimmen.

Markieren Sie mit einem Filzstift die 
Mittelpunkte der Langlöcher.

Entfernen Sie anschließend Element A 
und bohren Sie mit einem 3 mm Bohrer 
und einer Bohrmaschine die Löcher 
an den 4 markierten Stellen. Entfernen 
Sie den 3 mm Bohrer, wechseln Sie 
auf den 7,5 mm Bohrer und nutzen Sie 
die Vorbohrungen als Führung, um die 
Durchgangslöcher mit 7,5 mm zu bohren.

+49 2739 8983910T

E kontakt@pineapplecontracts.com

TEIL 1

FRONT FRONT

FRONT

ON THE RIGHT RYNO MODULAR SECTION, TAKE BRACKET A AND ALIGN THE EDGES WITH THE 
FRONT AND SIDE EDGES OF THE RECESS AS WELL AS THE MARKED-OUT LINE MADE IN THE 
PREVIOUS STEP.

USING A FELT-TIP PEN, MARK THE CENTRES OF THE SLOTS. 

REMOVE THE BRACKET. USING A POWER DRILL WITH A 3MM DRILL BIT, DRILL THE PILOT HOLES IN 
THE FOUR MARKED POINTS. REMOVE THE 3MM DRILL BIT FROM THE POWER DRILL AND ATTACH 
THE 7.5MM DRILL BIT. USING THE PILOT HOLES AS A TEMPLATE, DRILL 7.5MM THROUGH-HOLES.

FRONT

ON THE RIGHT RYNO MODULAR SECTION, TAKE BRACKET A AND ALIGN IT WITH THE SIDE EDGE 
OF THE RECESS AS WELL AS THE MARKED-OUT LINE MADE IN THE PREVIOUS STEP.

USING A FELT-TIP PEN, MARK THE CENTRES OF THE SLOTS. 

REMOVE THE BRACKET. USING A POWER DRILL WITH A 3MM DRILL BIT, DRILL THE PILOT HOLES 
IN THE FOUR MARKED POINTS. REMOVE THE 3MM DRILL BIT FROM THE POWER DRILL AND 
ATTACH THE 7.5MM DRILL BIT. USING THE PILOT HOLES AS A TEMPLATE, DRILL 7.5MM 
THROUGH-HOLES.

3A: JOINING STRAIGHT SECTIONS ONLY 3B: JOINING SECTIONS WITH CURVES

ENSURING THAT THE TWO RYNO MODULAR SECTIONS ARE INLINE, USE A RULER TO MARK OUT 
A STRAIGHT LINE ON THE RIGHT RYNO MODULAR SECTION, SO THAT THE MARKED-OUT LINES 
ON BOTH ADJOINING UNITS ARE COLINEAR.

4B: JOINING SECTIONS WITH CURVES4A: JOINING STRAIGHT SECTIONS ONLY

FRONT FRONT

FRONT

ON THE RIGHT RYNO MODULAR SECTION, TAKE BRACKET A AND ALIGN THE EDGES WITH THE 
FRONT AND SIDE EDGES OF THE RECESS AS WELL AS THE MARKED-OUT LINE MADE IN THE 
PREVIOUS STEP.

USING A FELT-TIP PEN, MARK THE CENTRES OF THE SLOTS. 

REMOVE THE BRACKET. USING A POWER DRILL WITH A 3MM DRILL BIT, DRILL THE PILOT HOLES IN 
THE FOUR MARKED POINTS. REMOVE THE 3MM DRILL BIT FROM THE POWER DRILL AND ATTACH 
THE 7.5MM DRILL BIT. USING THE PILOT HOLES AS A TEMPLATE, DRILL 7.5MM THROUGH-HOLES.

FRONT

ON THE RIGHT RYNO MODULAR SECTION, TAKE BRACKET A AND ALIGN IT WITH THE SIDE EDGE 
OF THE RECESS AS WELL AS THE MARKED-OUT LINE MADE IN THE PREVIOUS STEP.

USING A FELT-TIP PEN, MARK THE CENTRES OF THE SLOTS. 

REMOVE THE BRACKET. USING A POWER DRILL WITH A 3MM DRILL BIT, DRILL THE PILOT HOLES 
IN THE FOUR MARKED POINTS. REMOVE THE 3MM DRILL BIT FROM THE POWER DRILL AND 
ATTACH THE 7.5MM DRILL BIT. USING THE PILOT HOLES AS A TEMPLATE, DRILL 7.5MM 
THROUGH-HOLES.

3A: JOINING STRAIGHT SECTIONS ONLY 3B: JOINING SECTIONS WITH CURVES

ENSURING THAT THE TWO RYNO MODULAR SECTIONS ARE INLINE, USE A RULER TO MARK OUT 
A STRAIGHT LINE ON THE RIGHT RYNO MODULAR SECTION, SO THAT THE MARKED-OUT LINES 
ON BOTH ADJOINING UNITS ARE COLINEAR.

4B: JOINING SECTIONS WITH CURVES4A: JOINING STRAIGHT SECTIONS ONLY

3A

3B
FRONT FRONT

FRONT

ON THE RIGHT RYNO MODULAR SECTION, TAKE BRACKET A AND ALIGN THE EDGES WITH THE 
FRONT AND SIDE EDGES OF THE RECESS AS WELL AS THE MARKED-OUT LINE MADE IN THE 
PREVIOUS STEP.

USING A FELT-TIP PEN, MARK THE CENTRES OF THE SLOTS. 

REMOVE THE BRACKET. USING A POWER DRILL WITH A 3MM DRILL BIT, DRILL THE PILOT HOLES IN 
THE FOUR MARKED POINTS. REMOVE THE 3MM DRILL BIT FROM THE POWER DRILL AND ATTACH 
THE 7.5MM DRILL BIT. USING THE PILOT HOLES AS A TEMPLATE, DRILL 7.5MM THROUGH-HOLES.

FRONT

ON THE RIGHT RYNO MODULAR SECTION, TAKE BRACKET A AND ALIGN IT WITH THE SIDE EDGE 
OF THE RECESS AS WELL AS THE MARKED-OUT LINE MADE IN THE PREVIOUS STEP.

USING A FELT-TIP PEN, MARK THE CENTRES OF THE SLOTS. 

REMOVE THE BRACKET. USING A POWER DRILL WITH A 3MM DRILL BIT, DRILL THE PILOT HOLES 
IN THE FOUR MARKED POINTS. REMOVE THE 3MM DRILL BIT FROM THE POWER DRILL AND 
ATTACH THE 7.5MM DRILL BIT. USING THE PILOT HOLES AS A TEMPLATE, DRILL 7.5MM 
THROUGH-HOLES.

3A: JOINING STRAIGHT SECTIONS ONLY 3B: JOINING SECTIONS WITH CURVES

ENSURING THAT THE TWO RYNO MODULAR SECTIONS ARE INLINE, USE A RULER TO MARK OUT 
A STRAIGHT LINE ON THE RIGHT RYNO MODULAR SECTION, SO THAT THE MARKED-OUT LINES 
ON BOTH ADJOINING UNITS ARE COLINEAR.

4B: JOINING SECTIONS WITH CURVES4A: JOINING STRAIGHT SECTIONS ONLY



4B
Richten Sie Element A auf dem 
rechten Ryno Sitzmodul so aus, 
dass die Kanten mit der Seitenkante 
der Aussparung sowie der zuvor 
markierten Linie übereinstimmen.

Markieren Sie mit einem Filzstift die 
Mittelpunkte der Langlöcher.

Entfernen Sie anschließend Element 
A und bohren Sie mit einem 3 mm 
Bohrer und einer Bohrmaschine die 
Löcher an den 4 markierten Stellen. 
Entfernen Sie den 3 mm Bohrer, 
wechseln Sie auf den 7,5 mm Bohrer 
und nutzen Sie die Vorbohrungen als 
Führung, um die Durchgangslöcher 
mit 7,5 mm zu bohren.

05
Setzen Sie mit einer 
Bohrmaschine und einem 
H6-Innensechkant-Bit die 
M6-Gewindeeinsätz in die 
Durchgangslöcher der linken  
und rechten Ryno Sitzmodule ein.

+49 2739 8983910T

E kontakt@pineapplecontracts.com

MONTAGE DER VERBINDUNGSELEMENTE

06Verschrauben Sie mit einer 
Bohrmaschine und einem 
TX30 Torx-Bit Element A 
und Element B jeweils an 
den linken und rechten Ryno 
Sitzmodulen mit M6 x 20 
mm Senkkopfsicherheits-
schrauben.

TEIL 1
FRONT FRONT

FRONT

ON THE RIGHT RYNO MODULAR SECTION, TAKE BRACKET A AND ALIGN THE EDGES WITH THE 
FRONT AND SIDE EDGES OF THE RECESS AS WELL AS THE MARKED-OUT LINE MADE IN THE 
PREVIOUS STEP.

USING A FELT-TIP PEN, MARK THE CENTRES OF THE SLOTS. 

REMOVE THE BRACKET. USING A POWER DRILL WITH A 3MM DRILL BIT, DRILL THE PILOT HOLES IN 
THE FOUR MARKED POINTS. REMOVE THE 3MM DRILL BIT FROM THE POWER DRILL AND ATTACH 
THE 7.5MM DRILL BIT. USING THE PILOT HOLES AS A TEMPLATE, DRILL 7.5MM THROUGH-HOLES.

FRONT

ON THE RIGHT RYNO MODULAR SECTION, TAKE BRACKET A AND ALIGN IT WITH THE SIDE EDGE 
OF THE RECESS AS WELL AS THE MARKED-OUT LINE MADE IN THE PREVIOUS STEP.

USING A FELT-TIP PEN, MARK THE CENTRES OF THE SLOTS. 

REMOVE THE BRACKET. USING A POWER DRILL WITH A 3MM DRILL BIT, DRILL THE PILOT HOLES 
IN THE FOUR MARKED POINTS. REMOVE THE 3MM DRILL BIT FROM THE POWER DRILL AND 
ATTACH THE 7.5MM DRILL BIT. USING THE PILOT HOLES AS A TEMPLATE, DRILL 7.5MM 
THROUGH-HOLES.

3A: JOINING STRAIGHT SECTIONS ONLY 3B: JOINING SECTIONS WITH CURVES

ENSURING THAT THE TWO RYNO MODULAR SECTIONS ARE INLINE, USE A RULER TO MARK OUT 
A STRAIGHT LINE ON THE RIGHT RYNO MODULAR SECTION, SO THAT THE MARKED-OUT LINES 
ON BOTH ADJOINING UNITS ARE COLINEAR.

4B: JOINING SECTIONS WITH CURVES4A: JOINING STRAIGHT SECTIONS ONLY

FRONT FRONT

USING A POWDER DRILL WITH A T30 TORX SCREWDRIVER BIT ATTACHMENT, SCREW BRACKET A 
AND B TO THE LEFT AND RIGHT RYNO MODULAR SECTIONS RESPECTIVELY USING M6 x 20 
COUNTERSUNK SECURITY BOLTS.

USING A POWDER DRILL WITH A T45 SCREWDRIVER BIT, FIX THE M10 X 20 SECURITY BOLT AND 
M10 WASHER INTO FRONT BRACKETS SO THAT THEY ARE SECURELY CONNECTED. ENSURE 
THAT THE SCREWS ARE NOT OVER TIGHTENED.

6

7

BRACKET B BRACKET A

FRONT

 

5

USING A POWDER DRILL WITH A H6 HEX SCREWDRIVER BIT ATTACHMENT, DRIVE THE M6 
INSERTS INTO THE THROUGH-HOLES IN BOTH THE LEFT AND RIGHT RYNO MODULAR SECTIONS.

FRONT FRONT

USING A POWDER DRILL WITH A T30 TORX SCREWDRIVER BIT ATTACHMENT, SCREW BRACKET A 
AND B TO THE LEFT AND RIGHT RYNO MODULAR SECTIONS RESPECTIVELY USING M6 x 20 
COUNTERSUNK SECURITY BOLTS.

USING A POWDER DRILL WITH A T45 SCREWDRIVER BIT, FIX THE M10 X 20 SECURITY BOLT AND 
M10 WASHER INTO FRONT BRACKETS SO THAT THEY ARE SECURELY CONNECTED. ENSURE 
THAT THE SCREWS ARE NOT OVER TIGHTENED.

6

7

BRACKET B BRACKET A

FRONT

 

5

USING A POWDER DRILL WITH A H6 HEX SCREWDRIVER BIT ATTACHMENT, DRIVE THE M6 
INSERTS INTO THE THROUGH-HOLES IN BOTH THE LEFT AND RIGHT RYNO MODULAR SECTIONS.



07
Befestigen Sie mit einer 
Bohrmaschine und einem TX45 Torx-
Bit die M10 x 20 Sicherheitsschraube 
und die M10 Unterlegscheibe an den 
vorderen Halterungen, sodass diese 
sicher verbunden sind. Achten Sie 
darauf, die Schrauben nicht zu fest 
anzuziehen.

+49 2739 8983910T

E kontakt@pineapplecontracts.com

MONTAGE DER VERBINDUNGSELEMENTE TEIL 1
FRONT FRONT

USING A POWDER DRILL WITH A T30 TORX SCREWDRIVER BIT ATTACHMENT, SCREW BRACKET A 
AND B TO THE LEFT AND RIGHT RYNO MODULAR SECTIONS RESPECTIVELY USING M6 x 20 
COUNTERSUNK SECURITY BOLTS.

USING A POWDER DRILL WITH A T45 SCREWDRIVER BIT, FIX THE M10 X 20 SECURITY BOLT AND 
M10 WASHER INTO FRONT BRACKETS SO THAT THEY ARE SECURELY CONNECTED. ENSURE 
THAT THE SCREWS ARE NOT OVER TIGHTENED.

6

7

BRACKET B BRACKET A

FRONT

 

5

USING A POWDER DRILL WITH A H6 HEX SCREWDRIVER BIT ATTACHMENT, DRIVE THE M6 
INSERTS INTO THE THROUGH-HOLES IN BOTH THE LEFT AND RIGHT RYNO MODULAR SECTIONS.

FRONT

N

UNDERSDIE

  

  

O
TOP

8

NOTE: IF THE SECURING HOLES ON THE BRACKETS ARE MISALIGNED, UNSCREW THE M6 SECURITY BOLTS THAT ARE HOLDING HE MISALIGNED 
BRACKETS IN PLACE UNTIL THE BRACKETS BECOME ADJUSTABLE.

ADJUST THE BRACKET TO THE APPROPRIATE POSITION USING THE OVAL FIXING SLOTS. ONCE THE BRACKET IS IN THE CORRECT POSITION, RE-
SECURE THE BRACKETS USING THE M6 SECURITY BOLTS, ENSURING THAT THEY ARE NOT OVER TIGHTENED.

08

Hinweis: Sollten die Befestigungslöcher der Elemente nicht ausgerichtet 
sei, lösen Sie die M6-Sicherheitsschrauben, mit denen die falsch sitzenden 
Elemente befestigt sind, soweit, dass sich die Elemente noch verstellen lassen.

Richten Sie die Elemente über die ovalen Befestigungsschlitze in die richtige 
Position aus. Sobald die Elemente korrekt positioniert sind, ziehen Sie die  
M6-Sicherheitsschrauben wider fest an, ohne sie zu stark anzuziehen.



09
Wiederholen Sie die 
Schritte 02 bis 08, um 
die hinteren Elemente an 
den Ryno Sitzmodulen zu 
montieren. 

+49 2739 8983910T

E kontakt@pineapplecontracts.com

MONTAGE DER VERBINDUNGSELEMENTE TEIL1

 

REPEAT STEPS 2-8 TO INSTALL THE REAR SET OF BRACKETS TO THE RYNO MODULAR SECTIONS.

UNDERSDIE

FRONT

REAR

 

FRONT

     

REAR

 

O
TOP

BRACKET B BRACKET A

9

10

USING A POWDER DRILL WITH A T45 SCREWDRIVER BIT, UNFIX THE M10 X 20 SECURITY BOLT AND M10 WASHER INTO FRONT AND REAR SET OF 
BRACKETS SO THAT THE RYNO MODULAR SECTIONS ARE DISCONNECTED.

NOTE: IF YOU ARE CONNECTING MULTIPLE RYNO MODULAR SECTIONS, REPEAT STEPS 1-10 BEFORE PROCEEDING TO PART 2 OF THE INSTRUCTIONS.

 

REPEAT STEPS 2-8 TO INSTALL THE REAR SET OF BRACKETS TO THE RYNO MODULAR SECTIONS.

UNDERSDIE

FRONT

REAR

 

FRONT

     

REAR

 

O
TOP

BRACKET B BRACKET A

9

10

USING A POWDER DRILL WITH A T45 SCREWDRIVER BIT, UNFIX THE M10 X 20 SECURITY BOLT AND M10 WASHER INTO FRONT AND REAR SET OF 
BRACKETS SO THAT THE RYNO MODULAR SECTIONS ARE DISCONNECTED.

NOTE: IF YOU ARE CONNECTING MULTIPLE RYNO MODULAR SECTIONS, REPEAT STEPS 1-10 BEFORE PROCEEDING TO PART 2 OF THE INSTRUCTIONS.

10

Lösen Sie mit einer Bohrmaschine und einem TX45 Torx-Bit die M10 x 20 
Sicherheitsschrauben und M10 Unterlegscheiben an der vorderen und 
hinteren Halterung, sodass die Ryno Sitzmodule getrennt werden.

Hinweis: Wenn Sie mehrere Sitzmodule verbinden möchten, wiederholen Sie 
die Schritte 01 bis 10, bevor Sie mit Teil 2 der Anleitung fortfahren.



+49 2739 8983910T

E kontakt@pineapplecontracts.com

HAFTUNGSAUSSCHLUSS

 	 Vergewissern Sie sich, dass für die Befestigung der Möbel die richtigen und angemessenen 		
	 Beschläge verwendet werden.

 	 Vergewissern Sie sich, dass die Befestigungen für das Verankerungsmaterial geeignet sind.

 	 Verwenden Sie Befestigungen mit angemessener Stabilität und erwägen Sie die 			 
	 Verwendung von Sicherheitsbefestigungen in anspruchsvollen Umgebungen.

 	 Erwägen Sie die Verwendung von hochfesten Schraubsicherungen für Befestigungen in 		
	 anspruchsvollen Umgebungen.

 	 Vergewissern Sie sich, dass alle Lücken nach der Montage des Produkts, falls erforderlich, 		
	 mit einer geeigneten Dichtmasse verschlossen werden.

 	 Bitte lesen Sie alle Anweisungen sorgfältig durch, um eine ordnungsgemäße Montage zu 		
	 gewährleisten. Wenn Sie die Anweisungen nicht lesen und befolgen, kann dies zu 			 
	 einer fehlerhaften Montage des Produkts und zum Ausschuss der Garantie führen.

 	 Pineapple haftet nicht für Folgen aufgrund einer unsachgemäßen Montage der Produkte.


